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|Define transpose matrix.]

(%) V* 4 (SRR BT TR IS |

|Define inner product of vectors in Va.]

(o) P GRTTAT SR SR @ R-@efe-a o 71

|What is relation between minor and ce-factor of any element of a
determinant?)

(9) 7b BrieriR ¢ &oTF Q@ FICE 7
|What is called direct sum of two-subspaces?|
(%8) V"a (533 IS It JA?

[What do you mean by vector in V"?|

(%) M9 (SIJCA 7 91 (A F TR WIS |
[Define norm ar length of vector in R"?|
() I 13-4 TREA[ A0S |
[Define free variable.]
(&) 5T Tor-ErIe TS [ 12

[What do you mean by vector subspace?]

() ST AT AT TS N T3

[What do you mean by linear combination of vectors?]
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|Does the set {(1, 0, 0), (0, 1, 0), (1, 1, 0)} form a basis?|

(®) e FemeET Afelm @1 sReEr WS |

[Define image of a linear combination.|

(2) = 3f MG WROR TR € RO (©TI-GF TRG[ WS |

|Define eigen value and eigen vector of a square matrix.|
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[If A and B are two non-singular matrices, then show that (AB)"' =
B'A™]
O Wy yve V' SEAMSA, |u+y [ +|u-v[F=2(ulf+2]y
92 3T TS IR WG |

[If u, v e V", then show that, || u+ v |+ u-v [*=2] u|*+2] v and

give its geomelric interpretation. ]

1 3 5 6
81 foom wiafs rmaem ffasa:A=| 4 1 -2 4
-2 0 3 1
1 3 56
[Find the echelon form of the following matrix A=| 4 1 -2 4 |[]
-2 0 3 1

¢ AW (SFT TR w(F) 99 90 TH-TR S R T =W, O (A @, SN T
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[If S and T are two subspaces of a vector space v(F), then show that S~ T
is a subspace of v(F).]

Y| EGAEE A, B, C TGET GERE T Sa & 59, @ALTE =

(0 Da=G o)lr=( De- )

Website — https://pimathclub.com/



[Express the matrix E as a linear combination of the matrices A, B, C

“’he“‘E=(|3 —ll)-A=G (11)"3:(? ?)’C=(00 -21)']

91 MA@, (1,1,2),(1,0,1),(2, 1, 3) (S|IT V° (T AT FSa1eT |
[Show that, (1, 1, 2), (1, 0, 1), (2, 1, 3) vectors are linearly dependent in
V3]
v SfEEs ATATE T VP @ FAREE WG A 39, TT (x, v,
z)=(2x+vy, x -y, z) AR GRS |
[Find the matrix representation of the linear transformation T : V' —» V°
defined by T (x, y, z) =(2x + y, x — y, ) with respect to the standard basis.]
2 2 -1 0 1
23|
-1 -1 2 -3 1
51 THAGT HRT A 7 |
1 1 -2 0 -1
o 0 1 1 1
2 2 -1 0 1
-1 -1 2 -3 1
[Find the rank of the matrix ]
| 1 =2 0 -1
o 0o 1 1 1
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I+a, 1 1 1
1 l+a, 1 |
| 1 1+a, I
[Show that = a,a3;... ... a,
1 1 1 1+a,
(1ekedi D),

k @7 aF9 W T T, 37 FRFERe geEeRtEE AT @ (i)
ST A YT (i) GFIEE A ACF (fii) ST TALT A0S =
x+yt+tkz=2

Ix+4y+2z=k

2x+3y-z=1

[Determine the values of k such that the following system of linear
equations have (i) no solution (ii) more than one solution (iii) a unique
solution:

x+y+kz=2
Ix+4y+2z=k
Ax+3y-z=1]

I CPICT PN T (58T &8 v(F) 99 u 93 w ¥o Toepie 77, o
mate @, dim (u+ w) =dim u+ dim w = dim (u N w).

[If u and w are two subspaces of a vector space v(F) of finite order, then
prove that dim (u+ w) =dim u+ dim w = dim (u N w).]

T 34, V93 9o TR v = {(a, b, ¢, d) : b-2c+d =0} 9R w= {(a,
b,c,d):a=d,b=2¢} I (i) v (ii) w(iii) v~ w R (iv) v + w 97 fofa am
T T

[Letv={{a,b,c,d):b-2c+d=0} and w={(a,b,c,d): a=d, b=2c}
be two subspace of V*. Find a basis and dimension of (i) v (ii) w (iii) v
wand (iv) v+w.]

(F) ol @, (1,0, 0), (0, 1,0),(0,0,1)} =T GHi6 V* ¥7 fofa |
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[Show that the set of vectors {1, 0, 0), (0, 1, 0), (0, 0,1)} is a basis of
vi]

() ordre @, (BFA TS VP T {(1, 2, 3), (0, 1, 2), (0, 0,1)} G(T &= |
[Show that, {(1, 2, 3), (0, 1, 2), (0, 0,1)} is a generator of the vector

space V.
Se | A TSI MfFemR, T e e *arerived fofe ey w9 | -
2 2 -1 01
A= -1 -1 2 -3 1
0o 0 1 11
[Find the basis for row space, column space and null space of a matrix A
2 2 -101
where A=| -1 -1 2 -3 1]
0 0 1 11
8§ 2 -2
3WiA=| 3 3 -1 |wGwubs sZem I ¢ WFEHE wRew elwEr e
24 8 -6
Bl
[Find the eigen values and the associated eigen vectors of the matrix A =
8 2 -2
3 3-11]]
24 8 -6

3 | GFT-TTT ooy 6T T GR AT F |
[State and prove the Cayley-Hamilton Theorem. ]
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